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SUBMISSION DATE  

 

Solve the following addition sums: 

     a) TO                  b) TO            c) TO 

         56                      66                  39 

  +44                  + 35               + 26 

  ------                -----               --------- 

 

1. Ram has 32 pencils and Rina has 26 pencils. How many pencils do they have 

altogether? 

 

 

 

 

2. Sheena had 87toffees and Rita had 12 toffees. How many toffees did they have? 

 

 

 

 

3. 42 boys and 51 girls went to visit the zoo. How many children altogether visited the 

zoo? 




